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No.890 2 (202)6 12-14

1 CW-2 SNP
SN\P
&G 15 49 2a 0. 38 G 0. 575
GI 29 48 2bp 0. 54
1T 9 48 8hb 0. 07 T 0. 434
53
a-b: p5O0Tudk ey
2 QW 2 SNP
&G Gr T G
30 26 9 14 3 0. 62
4 0 3 1 0. 38
7 1 4 2 0.43
14 4 3 1 0 0. 88
3 0 1 2 0.17
6 6 2 4 0 0. 67
2 2 0 1 1 0.25
1 1 0 1 0 0.50
53 15 29 9 0. 56

2) N a-b: P<0. 8, Tukey

3 SCD, FASNZ2 SNP MUE A
MEF A S\P

H 17 57 .9A 0.90 HO. D5

SO H 17 56 .08 0.80

LL

H 29 57 .22 0.85 HO. 82
FA3N H 5 56 .56 0. T4
LL - - - L 0.@a7
34
4 SCO FA 8P S\P
SO FASN?
HH H H HH H H
18 8 10 0.72 16 2 0.94
10 6 4 0. 80 7 3 0.85
5 2 3 0.70 5 0 1.00
1 1 0 1.00 1 0 1.00
34 17 17 0.75 29 5 0.93




